
Math L030, euiz #1,

Instructions: Show all
possible. Be sure to an

L. simprify (f3

2 . Solve the equat i
contradict ion, a
a .  3 x - ( 2 x -

3*-2r
X * t

I

' Y K f
8x t 3(x

3.  Graph the  equat i
on the r ight.  Labe

x=o + Y-t

Y=o =t I

3; +S) ' tz
3r:lz
x =rt

specif ical ly i

/ tz+
I - -

\ 4? ,

to round. Reduce as much as

= (e)

s for the vari .  State whether the is condit ional,  an ident i ty or aI  c lear ly state
) + 5 = - 5 x

solut ion ( i f  any) or say there is no solut ion.

+s= *s
= x  - t \1
-  t l

3 ( 2 x + 4 ) - I

+ 6 t  +  a - f

X ha" nn

Urdffi^r*jt
n

I
6

q(r+) " r)
z) = X-t
3 x + 2 y = 1 on the  graph

any intercepts.

(o
)

(q,o\


